
EJERCICIOS Resueltos de REGLA DE L ’ HÔPITAL

Indeterminaciones





0

0





ĺım
x→0

senx

x
=

[

0

0

]

= ĺım
x→0

cos x

1
=

cos 0

1
=

1

1
= 1

ĺım
x→0

ex − 1

x
=

[

0

0

]

= ĺım
x→0

ex

1
=

e0

1
=

1

1
= 1

ĺım
x→1

lnx

x2 + x − 2
=

[

0

0

]

= ĺım
x→1

1
x

2x + 1
= ĺım

x→1

1

2x2 + x
=

1

2 · 12 + 1
=

1

3

ĺım
x→0

x − senx

x3
=

[

0

0

]

= ĺım
x→0

1 − cos x

3x2
=

[

0

0

]

= ĺım
x→0

sen x

6x
=

[

0

0

]

= ĺım
x→0

cos x

6
=

1

6

ĺım
x→0

tg 3x

tg x
=

[

0

0

]

= ĺım
x→0

3
cos2 x

1
cos2 x

=
3
1
1
1

= 3

ĺım
x→0

sen3x

x − 3

2
sen2x

=

[

0

0

]

= ĺım
x→0

3 · cos 3x

1 −
3

2
· cos 2x · 2

= ĺım
x→0

3 · cos 3x

1 − 3 cos 2x
=

3 · 1
1 − 3 · 1

= −
3

2

ĺım
x→0

senx − x cosx

sen3 x
=

[

0

0

]

= ĺım
x→0

cos x − ( cos x − x sen x )

3 sen2 x cos x
= ĺım

x→0

x sen x

3 sen
2

x cos x

=

= ĺım
x→0

x

3 sen x cos x

sen 2x=2 sen x cos x
= ĺım

x→0

x
3
2 sen 2x

=

[

0

0

]

=

= ĺım
x→0

1
3

2
· 2 cos 2x

= ĺım
x→0

x

3 cos 2x
=

2

3 · cos 0
=

2

3 · 1
=

2

3

ĺım
x→0

x arc senx

senx cosx
=

[

0

0

]

sen 2x=2 sen x cos x
= lı́m

x→0

x arc sen x
1
2 sen 2x

= ĺım
x→0

2x arc sen x

sen 2x
=

[

0

0

]

=

= ĺım
x→0

2 · arc sen x + 2x
1 + x2

2 · cos 2x
=

2 · arc sen 0 + 2·0
1 + 02

2 · cos 0
=

2 · 0 + 2·0
1 + 02

2 · 1
= 0

ĺım
x→0

ax − bx

x
=

[

0

0

]

= ĺım
x→0

ax · ln a − bx · ln b

1
= lna − lnb

ĺım
x→0+

x
n

− 1

x − 1
=

[

0

0

]

= ĺım
x→0+

x
n

− 1

x − 1
= ĺım

x→0+

1

n · xn−1
=

[

1

0+

]

= + ∞



Indeterminaciones





∞
∞



 e Inteterminaciones 0 · ∞

ĺım
x→+∞

3x2 + 2x − 1

4x2 + 6
=

[

∞
∞

]

= ĺım
x→+∞

6x + 2

8x
=

[

∞
∞

]

= ĺım
x→+∞

6

8
=

3

4

ĺım
x→+∞

ex

x2
=

[

∞
∞

]

= ĺım
x→+∞

ex

2x
=

[

∞
∞

]

= ĺım
x→+∞

ex

2
=

[

+ ∞
2

]

= + ∞

ĺım
x→+∞

2x

x
= ĺım

x→+∞

2x · ln 2

1
=

[

+ ∞
1

]

= + ∞

ĺım
x→+∞

ln2 x
√

x
=

[

∞
∞

]

= ĺım
x→+∞

2 · lnx · 1
x

1
2
√

x

= ĺım
x→+∞

4 ·
√

x · lnx

x
=

[

∞
∞

]

=

= ĺım
x→+∞

4 · 1
2
√

x
· lnx + 1

x
·
√

x

1
= ĺım

x→+∞

(

2 · lnx

x
+

√
x

x

) √
x

x
= 1√

x

=

√
x

x
= 1√

x

= ĺım
x→+∞

(

2 · lnx
√

x
+

1
√

x

)

= ĺım
x→+∞

2 · lnx + 1
√

x
=

[

+ ∞
∞

]

=

= ĺım
x→+∞

2 · 1
x

1
2
√

x

= ĺım
x→+∞

4 ·
√

x

x

√
x

x
= 1√

x

= = ĺım
x→+∞

4
√

x
=

[

4

∞

]

= 0

ĺım
x→π

[ ( x − π ) ] · tg
x

2 →
= [ 0 · ∞ ] =

x
lı́m

π

tg
x

2
1

x − π

=

[

∞
∞

]

= ĺım
x→π

1

2
·

1

cos2 x
2

− 1

( x − π)2

=

= ĺım
x→π

− ( x −
2 x

π)2

2 · cos 2

=

[

0

0

]

= ĺım
x→π

− 2 · ( x − π )

2 · 2 · cos x
2 ·
(

− sen x
2

)

· 1

2

2 sen x

2
cos x

2
=sen x

=

2 sen x

2
cos x

2
=sen x

= lı́m
x→π

− 2 · ( x − π )

− sen x
=

[

0

0

]

= lı́m
x→π

− 2

cos x
=

− 2

− cos π
=

− 2

−1
= −2

x→
ĺım

π

2
→

( secx − tg x ) = [ ∞ − ∞ ] =
x
lı́m

π

2

(

1

cos x
−

sen x

cos x

)

= lı́
π

m
x→

2

1 − sen x

cos x
=

[

∞
∞

]

=

= lı́
π

m
x→

2

− cos x

− sen x
=

− cos
π

π
2

− sen 2

=
0

−1
= 0



ĺım
x→1

(

e

ex − e
−

1

x − 1

)

= [ ∞ − ∞ ] = ĺım
x→1

e · x − e − ex + e

( ex − e ) · ( x − 1 )
= ĺım

x→1

e · x − e

x · ex − e · x + ex + e
=

=
e − e

e + e − e − e
=

[

0

0

]

= ĺım
x→1

− ex

ex + ex + x · ex − ex
=

[

0

0

]

=

= ĺım
x→1

e − ex

ex + x · ex − e − − ex
= ĺım

x→1

− ex

ex + x · ex
=

− e

e + e
=

− e

2 e
= −

1

2

Indeterminaciones 1∞ , 00 , ∞0 · · ·

ĺım
x→0

(

2x + 3x

2

)
1

x

=
[

∞0
]

= M

Tomando logaritmo neperiano en ambos miembros:

lnM = ln



 ĺım
x→∞

(

2x + 3x

2

)
1
x



 = ĺım
x→0

ln





(

2x + 3x

2

)
1
x



 = ĺım
x→0

1

x
· ln

(

2x + 3x

2

)

=

→
= [ 0 · ∞ ] =

x
lı́m

0

ln

(

2x + 3x

2

)

x
=

[

0

0

]

= ĺım
x→0

2
2x + 3x · 2x·ln 2 +

2
3x·ln 3

2
=

ln 2 + ln 3
20 + 30

2
=

=
ln 2 + ln 3

4
⇒ M = e

ln 2 + ln 3

4

ĺım
x→+∞

(

x + ex + e2x
)

1

x = [ 1∞ ] = M

Tomando logaritmo neperiano en ambos miembros:

lnM = ln
(

x + ex + e2x
)

1
x = lı́m

x→+∞
ln
(

x + ex + e2x
)

1
x = lı́m

x→+∞

ln
(

x + ex + e2x
)

x
=

=

[

∞
∞

]

= ĺım
x→+∞

1 + ex

x

+ 2 ·
2

e
x

x

x + e + e
=

[

∞
∞

]

= ĺım
x→∞

ex

x

+ 4 · ex

1 + e + 2 · e2x
=

=

[

∞
∞

]

= ĺım
x→+∞

e
x

x + 8 · e
2

x

xe + 4 · e
=

[

∞
∞

]

= ĺım
x→∞

ex

e2x
+

8 ·
2

e
x

2x

e
ex

e2x
+

4 ·
2

e
x

2x

e

=

= ĺım
x→+∞

e−x + 8

e−x + 4
=

+0 8

0 + 4
= 2 ⇒ M = e2



ĺım
x→π

2

( senx )tg x = [ 1 ∞ ] = M

Tomando logaritmo neperiano en ambos miembros:

lnM = ln ĺım
x→π

2

( sen x )tg x = ĺım
x→π

2

ln ( senx )tg x = ĺım
x→π

2

tg x · ln ( senx ) = ĺım
x→π

2

ln ( senx )

1

tg x

=

= ĺım
x→π

2

ln ( senx )

cotg x
=

[

0

0

]

= ĺım
x→π

2

cos x

sen x
− 1

sen2 x

= ĺım
x→π

2

sen
2

x · cos x

− sen x
=

= ĺım
x→π

2

−
1

2
· sen 2x = 0 ⇒ M = 1

ĺım
x→+∞

(

e2x + 1
)

1

x =
[

∞ 0
]

= M

Tomando logaritmo neperiano en ambos miembros:

lnM = ln ĺım
x→+∞

(

e2x + 1
)

1
x = ĺım

x→+∞
ln
(

e2x + 1
)

1
x = ĺım

x→+∞

1

x
· ln

(

e2x + 1
)

=

= ĺım
x→+∞

ln
(

e2x + 1
)

x
=

[

∞
∞

]

= ĺım
x→+∞

2 · e2x

e2x + 1
=

[

∞
∞

]

= ĺım
x→+∞

4 · e2x

2 · e2x

=

4

2
= 2 ⇒ M = e2




